Potenzrechnung – Vermischte Aufgaben 3 – Lösungen 

	1.
	Vereinfache.



	
	a) 4a³ + 3x² - 5z4 + 2a³ + z4 – 2x³
	b) (15a4 – 12a3+n + 9a1-n) : (3a²)

	
	= 6a³ + 3x² – 4z4 – 2x³
	= 5a² – 4a1+n + 3a-1-n

	
	c) (8x³ - 28x² - 12x + 2) : ( 4x + 2)
	d) (x4 – 1) : (x – 1)

	
	= 2x² – 8x + 1
	= x³ + x² + x + 1

	
	e) (6a²b4c³ + 9a5c³ + 9a5b²c6)2
	

	
	= 36a4b8c6 + 108a7b4c6 + 108a7b6c9 + 81a10c6 + 162a10c6 + 81a10b4c12

	
	f)  3x²(4x³ – 5x4)
	

	
	= 12x5 – 15x6
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	Schreibe ohne Bruch.
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	Schreibe als Wurzel.
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